o 2w gol g Wel Aol 77
2cm, 3em %1 & FSHA7} Aok (7h A
SR ] Ral 2em? o], (1) SR
o] mo) gbem? < m, 2¢ 1} 30 O] T
Hlwstoel, (&, a,b & A5 )

e
-

N = ==

2cm”




@ 5 9] AlFoltt,

@ 10 7 2.



3.

(e]
flo

43 o it th= A F A &

5

@ 12 °F &t

@ "2 40|t}

® A& 3ol

@ 4x4x4E erd Aol
() 34 B} =k

m

rlo



® 263 B 772 @ 305 B 273

D 124



5.

oH Al 2

e 3 9 i
R Fstofet,

ofeh. [ gl o

4

olu
2=

]_

rlo

o7}

2[ ]8

5 ES

Y EE

i



3 288

@ 352

(B) 1498



7. QS N 170 0 Lrw Fol 2 o2 A7 R o]tk R I
¥ 473 AL ), N & BE 2 AR Fatodat,

e = 7



HFEE-2 T2t 2ol iAokl A& A5 E 232 MA 559
AT} AZo AFE 100 RA7EA] O] A2 HHEE2] 7l A=
& A2?

L1 1 el | 1 Jeel I 1 100 | | [G/O5y

@ B 207 @ AL 0 O AL, 60 )



9. AAL N80 0% Wl o] 2 o)1 Yuix7}y olet. 1 o] oF47}
54w, N o gt Patolet.

e =
c



